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QUESTION 1

Which types of dialog instances can be installed to an SAP system, depending on the SAP system type? Choose the
correct answer(s). 

A. AS ABAP dialog instance 

B. Central services dialog instance 

C. AS Java dialog instance 

Correct Answer: AC 

 

QUESTION 2
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There are 2 correct answers to this question. 

A. The error can be avoided by running the respective program in a batch job in the SAP system, if background
processing is possible for this program. 

B. The error was caused by a transaction in the SAP system that exceeded the extended memory 

C. The error can be avoided by reducing the memory usage of the respective transaction in the SAP system. 

D. The error was caused by a transaction that exceeded the maximum runtime in a dialog work process of the SAP
system. 

E. The error was caused by a transaction that exceeded the maximum runtime in a background work process of the
SAP system. 

Correct Answer: AD 
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QUESTION 3

How can you determine the current store location for TemSe spool objects? 

A. Check the table space PSAPSPOOL in the database. 

B. Check the environment variable DIR_SAPSPOOL 

C. Check the value of the system parameter rspo/store_location. 

D. Check the value of the SAP Spooler Vault parameter. 

Correct Answer: C 

 

QUESTION 4

When performing modification adjustments for the ABAP Dictionary, using transaction SPDD (Modification 

Adjustment Dictionary) during an SAP System upgrade of the development system, which of the following 

statements are true? 

There are 2 correct answers to this question. 

A. Objects which may need to be adjusted in transaction SPDD (Modification Adjustment Dictionary) are, for example,
domains, data elements, and table definitions. 

B. Objects which may need to be adjusted in SPDD (Modification Adjustment Dictionary) are, for example, views and
reports. 

C. Modification adjustments with transaction SPDD (Modification Adjustment 

D. Dictionary) are performed during the upgrade, to avoid data loss when customers have changed the standard ABAP
Dictionary objects. 

E. Customer-developed reports in the customer name range are adjusted with transaction SPDD during the upgrade. 

F. Modification adjustments for the ABAP Dictionary are performed after the upgrade. 

Correct Answer: AC 

 

QUESTION 5

Which of the following are features of SAP Identity Management (IdM)? Choose the correct answer(s). 

A. Integration of the different databases of SAP and non-SAP systems 

B. Compatible with integrated SAP NetWeaver security frameworks 

C. Performs as a Lightweight Directory Access Protocol (LDAP) connector 
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D. Integration with SAP NetWeaver platform and business applications 

Correct Answer: BD 
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